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2|.ln a G.P,, the 3" term is 24 and the
6th term is 192. Find the 10t" term.
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22 .The 5%, 8™ and 11 terms of a

G.P. are D, q and s, respectively.

Find g>.
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23%. The 4t term of a G.P. is square of

@Y)Z.-_ ar®
o= gr®
A=7=-3

6 Y
T2 Q7 =@2)= 12943 -

its second term, and the first term
is —3. Determine its. 7th term.
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24. The sum of first three terms of a
'2_ .
Y ay "= G.P. is 16 and the sum of the
CL +a t Y 16 next three terms is 128 .
Determine the first term.
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25. Find four numbers forming a geometric
progression in which the third term is
greater than the first term by 9, and the
second term is greater than the 4t by 18.
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26.The second term of a geometric
progression is 12 more than the
first term and the third term is 28
more than the second. What is the
difference between the third and
fourth terms of that progression?

| | 12



27. The sum of first three terms of a G.P.

2)5) is % and their product is 1. Find the
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29, The sum of some terms of
2 (Y ') G.P. is 315 whose first term
n and the common ratio are 5
and 2, respectively. Find the
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If the arithmetic and
geometric mean of two
numbers are 12.5 and 12
respectively, find the
difference of the two

numbers?
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3|, If A.M. and G.M. of roots of a

guadratic equation are 8 and
5, respectively, then obtain
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the quadratic equation.
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22. If p,q,r,s are in geometric progression,
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2% If p,q,r,s are in geometric progression,
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24. Find the sum of the first 40 terms of
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Harmonic Progression (BRTcH® 41fh):

1 1 1 1
. Generalform:;,a+d,a+2d,a+3d, .........
« (nt"term)T, = —— AP—ﬂ —l;)-’ ﬁ-l-(']-l)O,
a+(n-1)d
AP— T7,10,1316,. _. . | AP> 2,2 S 2
2
H A1
o RN ST R o 2 S N B
3 2[ —S/3l .

| | 27



Harmonic mean (83TH® HI):
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25 There are two numbers. If the

b a, b ratio of their arithmetic mean
2= to harmonic mean is 25:9,
AM = Z a-{'b)x@'ﬁb) 0? S what is the ratio of their
HM ’Q °2 X od b 9 arithmetic mean to geometric
a*e mean?

ar weaw g Iy saw
ED) e | DR TLTOTS
AL Yoot 3% WATE ATE a?r%mﬂat

AT & AT FIT 87

\ o
ﬂ___ﬁ:qﬂ_b a)3:5 %‘5:3

c)9:25 d)25:9

_5
M T g3




	Untitled Section
	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29


